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Chapter 13: Volume

Addition of volume

Let’s do exercise together.

Please write doww the correct answer.

1.25 kg + 7 kg

- ]

2. 03 ko + 7 ky

- ]

2.7 kg + 2 kg

- ]

417 kg + 9D kg

- ]

5. 01 kg + 4 kg

- ]

6. 51 kg + 20 kg
.| |
7,20 ko + 46 ko
- | |
®. 75 ko + 26 ko
- | |
A.1% kg + 33 kg
- | |
10. 54 kg + 19 kg

‘ |
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Please write doww the correct answer.

1.520 9+ 570 9 + 400 9 = |
2.4M 9+522 9+ 1 9= |

3.6 a+3MMg+ATFoy= |
4.250 9 +100 9 + ©F4 ¢ =

5410 9+ 2229+ 455 9 =

0.507F 9+ 457 9+ 219 9 =

1. 02009+ 201 9+ 2919 =

9
9
9
)9
9
9
9

©.224 9+ 204 9+ 470 9 = :] ko [: 9
a.3429+2429+72409=(___ J k[ Jg

10. 404 0+ 269 9 + 024 o =
1M1.2029+47FA 9+ 263 9 =
12. 420 9+ 554 g+ 457 9 =

12,190 9 + 442 9 + A5 ¢ =

14.25% 9+ 510 9 + 550 ¢ =

S & ©

)9
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Please write doww the correct answer.

1142 g+ 219 9 + 560 9 =

2.500 9+ FN g =

2. 0159+ 2069 +174 9 =

4.500 9+ 222 09+42% 9=

5629 9 +5092 9 =

NN g+ D g+ 257 9 =

7. 419 9 +190 9 + 503 g =

.71 9+ 2049 g =

A. 560 9 + 429 0 + 153 ¢ =

10. 672 9+ 4320 9 =

1M1.207F 9+ 219 +107F 9 =

12879+ 4619+ 212 9 =

12. 659 9 + 40 9 =

14. 476 0 + 330 9+ 206 = |
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Please write doww the correct answer.

1. 2509 +1kg 470 g =

2. 202 9+1kg 70659 =

2. 456 9+ 2 kg 640 g =

4. 222 0+3ky252 0=

5. 2309+ 2kg by =

b. F259+1ky 32009 -=

7. Gl g+ 2 ko 420 g =

&, 2209+4kg 137 0=

a. 402 9+ 2kg 250 9=

10. 5299 +1 kg 649 o =

M. 2129+ 2kyd37 g =

12, MM 9g+2ky 5359 =

12, Ade g+ 4 kp121 9 =

AVERVER VRV VAR VA VERVER VARV VRV VA

14. G g+1kg 409 =
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Please write doww the correct answer.

1. 497 g+1kg 751 9 =

420 o+ 2 ko D0F 9 =

2a5 g +1 kg 331 g =

565 o+ 2 koy 535 ¢ =

el L

A0k o +1 kpy 195 o =

5. 3T a+4kg 33009 =

b. D0 9+2kg3dD 9=

7. 507 a+5ky 51D 9=

D, 09 9 +1kg A4 o =

a. a2d9+32kg1159 =

10. #2329+ 2 ka 437 9 =

M. 402 9+2kg 757 9=

12. 5450+ 4k 672 g =

12. 976 9+ 2 ko 566 g =
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Sulbtraction of volume

Please caleunlate the different weight of the vaws.

5000 ko — 2070 kg

Il
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Please write doww the correct answer.

1. A77 9 - 6149 -121¢9 =
2. 9559 -22409-1A9 g =
2. 02F 91499 - 2519 =
4. 12 9-4209—-50 9 =
5. 0%29-40009 -9 =
b. D7D 9 — 0059 -150 9 =
7. 219 -552 0 - 320 9 =
D, 55209 -200 9 -163 9 =
a4. Al g - 2959 - 6 g =
10. 2409 - 3063 923279 =
M. 51 g-279-153 ¢ =
12. 790 9 - 249 9 - 252 9 =
12, 724 9 - 246 0 - 124 o =

14, 62 0 - 421 g - 274 0 =
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Please fill in the blank space.

1. 9899~ | | 9- 1609 =5219
2. 616@—: :@~2014@ =346 9
2. 720@—: :@/1015@ =247 9
4. a0 9 - ( 19 — 2159 =024 g
5. 7501@5 :@*20]4@ =294 g
C. 0]1(0@—: :@f 2919 =419 9
7. Ca?ﬂ@~f f@f 1629 =21209
°. Aa92 o - 422 9 - 9 = 519 9
a. 19— 1Ft49- | 9 = 2219
10. 99209 - 2429 - 9 = 2919
M. d%bg - 2639 - ] 9 = 440 9
12 F#Hg9g- 2949 - : : 9 = 1579
12. 5509 - 2449 - [ ] 9 = 5% 9
14, A249- @0%g- | | 9 = 2029
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Please write doww the correct answer.

1. kg 2009 - 4ky D20 9=
2. 2k91729 -2 kg 31 9 =
2. Tkg23M -2 k95490 9 =
4. ko1t 9g-2ky 274 9=
5. 7k9 502 9 -4 kg 204 9 =

b. Akg 214 09— T kg 552 g =

7. 10 ko) 562 09— b ko 244 9 = |

D 4kg 20409 -1kg152 9 =
A. kg Td4 09 -2 kg 235209 =
10. 5 kg 207 9 — 2 ko) 566 ¢ =
1. kg 5059 -5 kg 267 g =
12. & ko561 o — 4 ko D69 9 =
12. 4k 207 9 -2k 520 9 =

4. Aka D20 9 -5 kg 065 9 =
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Please write down the correct answer.

1.6 kg @O0 09— 2 kg 429 9 =
2.4k 500 9 -1ke 322 9=
2.7kg 2219 -5ka 657 9 =
4.5k 165 0 - 2 ko 6DF 9 =
5.4k 150 0 — 5 ko) 240 ¢ =
b.D ko 402 -5 kg 204 9 =
T4 kg 24109 -2 ko 245 ¢ =
O. kg A5 09— 2 ko720 0 =
A.5 ke 2% 9 - 3 kg 95 ¢ =
10. 7 kg 60 9 - 2 kg 94D 9 =
1.2 kg 240 9 -1 ko) 202 9 =
12.0kg 207 9 - 5 kg A3 ¢ =
12.5ky 558 0 -1kg142 9 =
14.% kg 350 0 — 4 kg 029 9 =
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Wixed operations

Please write doww the correct answer.

1. 20 kg +14 ko - 20 kg =

. DAk - 27 kg + 37 kg =

2
2. 27kg+52 kg -16 kg =
4. 100 ko — A koy + 22 ko) =

5. 55 kg +17 ko - 26 kg =

b. A3 kg - 20 kg + 47 kg =

7. 104 ko - 52 kg + 23 kg =

D Mkyg+27kg-2Akg =

A. 5 kg +17 kg - 27 kg =

10. 99 kg + 2 kg - 62 kg =

1. 105 kg - 4 kg + 25 ko =

12. 1 kg - 48 kg + 30 ko =

AVAER VARV VA Ve VAR VA VR VAR VAR VR VAR V4

12. 52 kg + 72 kg - 05 kg =
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Please write doww the correct answer.

1. 5559 +196 9 - 274 0 =

. 773 0 - 500 9 + 195 ¢ =

2
2.901 9 - 4199+ 202 9 =
4

L0423 9+279 -5 0=

5. 2609+ 21609 - 200 9 =

6. 73509 -550 9+ 3159 =

7. G469 -530 0+ 24509 = |

B F049+1979-52449= |

a4. 5359 +1259 - 401 9 =

10. 2319+ 6419 - 2059 = |

M. 2429 -5259+1509 =

12. 216 9 - 505 ¢ + 104 ¢ =

12, 2079+ 214 9 -174 9= |

14. 4109 +191 9 - 2314 g =
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Please write doww the correct answer.

1.0kgy 254 9 +1kg 2406 09— 2 ko152 9

- | ]

2.7 kg 295 9 -1 kg 50 g + 3 kg 249 g

- | ]

2.5ky 402 9+ 2 ko 550 9 — 2 kg A59 o

- | |

4. Aky 240 09 -5 kg 720 9 + 4 kg 100 9

- | ]

5.5 kg 04 09+ 2 kg 205 9 - 2 kg 433 9

- | ]
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b. A ko DG 9 - 4 ko 42F g+ 2 kg 220 9

- | ]

7.9 kg 276 9 +1 kg 264 9 - 5 kg 799 g

- | ]

2.2k 492 9+ 2 kg 410 9 -1 kg 522 9

- | ]

a. 2 kg 214 9+ 5 kg 295 9 - 4 ko199 9

- | ]

10.5 ko) 297 9 - 2 koy 296 9 + 4 ko) 229 9

- | ]
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N7k 1M g -2 kg 328 g + 4 kg 462 9

- | ]

12. 4 kg 522 g+ 3 ko) 240 0 - 2 ko) 545 9

- | ]

12. 6 ko) 520 9+ 2 ko) 263 9 - 5 kg 602 9

- | ]

14.5ka 04 9 - 2k 220 0+ @ ko 424 ¢

- | ]

15. 7 k152 9 - 3 ko) ADG 9 + 5 kay 155 o

- | ]
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WMultiplication of volume

Please write doww the correct answer.

oI T I

12 kg 12 kg 12 ko 12 ko 12 ko
5x12 kg =
@ Q) Q) @
[}
DG )
4 x A ko=

Dx5ky =
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Please write doww the correct answer.

toa xsewe = Jel_ g
2. % x 3859 = [ |k ]
2. F x 2459 = : k@:@
45 x @og = [ Jw [ g
5. F x 40%q9 = :k@:@
. 3 x 5729 = :k@:@
o4 x 2039 = [ Jw[ g
. A4 x 129 = : k@:@
4. 9 x 209 = : k@:@
10. 6 x 4239 =[ |k g
M 3 x 5459 = [ g
1225 ¢« 3939 = Jw[ g
12. 6 x 4729 =: k@:@
14. 92 x 2029 - k@ﬁ@
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Please write doww the correct answer.

1. Fx2kgA9-=

2. 5x4kag1DF 9=
2. bx2ky2dFg-= \
4. 3x3ky3204-= \

5. 4x2ka 494 0=

b. Gx4kyg332209-=

7. 5%5kg 2050 -=

©. Ax1kyg 399 g =

A Gx2kg4354=

10, 4x3kg4204-=

—
L/

N, Bx4kgidg=

12, Fx1kg 343 9=

12, 5x3 k129 g =

/

14, 2x4 ke 400 9 =
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Please write doww the correct answer.

1. 2X6kg371g-=

2. A4x2kag193 9=
2. 2x1kg2959=
4. ©x2kay 400 9 =

5. 5x2kg27dg-=

b. Fx1kg47tg-=

F. Dx2kg12009 =

O, 5x2kg107 9=

4. bx5ky3519=

10.  2x1kg b2 9=

M. 5x2kg422¢9-=

12, Gbx4ky306309-=

12, 4x2kg 4759 =

AV VARV VAR VAR VAR VR VO YA VR Ve VRV

14, Dx2kg 227 9=
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Division of volume

Please complete below table.

Y6k + 4 = kgy | |*77kg 1= ko)
222ky+ 4= kg | |F42kpy+6= koy
> 4D ko + @ = koy ® 27k +3 = koy
kg + Q= kg | |*72kg= o= ko)
*e4kg 2= kgy | | 40kgy <10 = koy

Please write doww the correct answer in gram (g).

1. 2ky+ o=
2. b ko +o=
5. 2kg=+5-=
4, Ako+o=
5. 2ky+6=
. 5kg+2=
7. Tky+o=
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Please write doww the correct answer.

1. 420 9+ 6=
2.500 9 =5 =
2.4 0+ 2 =
4.0 9 <5 =
5.0 9+ 4=
. 292 0+ 2=
7. 600 0~ 4 =

©.900 9 + 5 =

M. 9209 =% =

12. 6200+ 4 = |

12.995 9«5 =
14.5062 9«2 =
15.100 9~ 2 =
16.220 9+ 2=
17. 624 9+ 6=
10.992 9+ 4 =
19. 420 9+ 4 =
20.575 9 x5 =
21.120 9+ 2 =
22.270 9+ 2=

22.940 9+ 4 =

24.200 9+ 2= (
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Please write doww the correct answer.

1. Akg4509+5=

2. ©kgdaog<x5-=
2. 5kg57bg 4=
4. 2kgD4bg 3=

5. kg 4300+5-=

6. 4ky30209+3 =

7. ko 2259 +5=

. 2kygDlog 2=

4. 5kgFe39=+3=

10. G@ky 2609+ 4=

M. CkyF2g+4-=

12, 7k 7554+ 5=

13, kg 4049+ 6=

4. 10ky 6759+ 7=
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Please write doww the correct answer.

1. bkg@29g+4-=

2. 4Akg5F20+3= \
2. kg FA2 9=+ 6= .
4 ©ky2354:5-= \ |

5 MNkyg4209 7=

b. Tko2459+5=

. kTS 9x6-=

& 132ky500 9+ q =

a. 5ky4324+3-

10, Gky 464 g+ 4 =

N Gkn3520+ 4=

12, 2kg160 g+ 2 =

12. 4kgP569+2 =

14, Gky5550 5=
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Please write doww the correct answer.

1. 5kg b4 o+ 4=
2. 2kg4909+5-=
2. kg 22%9 4=
4. Akg 505D 9= 6=

5 Fkgd%09 4=

b. DkgFobog~+ 6=

7. bkgd459+5=

. 13kg 063229 +9=

4 10kgNMN2g=+2-=

10. Fkag1t09=+5-=

1. ©kg4209+4-=

12, 2kg25069=+2=

12, 5ko (DR g+ 4=

AVEER VARV VAR VAR VA VERVAR VAR VA VAR VAR VAV

14, 5kag7249+3 =
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WMaltiplication of length

Please complete below table.

1. 2x105 m = .
2. ©OxMFwm = ]
2. dx215m : ]
4. 2x2351m = —
5. 5x2%4 w : R
. 2XxX25cm : R
7. ©eXx12cwm :I R
D0 FX2D e = | R
a4. 5%x44 cm = —
10. 5 X 25¢cm = | -
1. X120 w = R
12, 5%x19% o = .
12, S x 27w = -

Year 3 Mathematics Worksheet | Google: VBEST 181



vbest.edu.my

Please write doww the correct answer.

1. A X1 wWm5com=

2. 2X2 W20 cm =
2. 5x1wm 35 m =
4, 2XFWmMZ22Lom=

5. X5 m30cm=

(. FX2WmMgcom=

7. aAx1m2Adem =

. MX2Wm2em=

a. 4 X W 3D cm =

10. 2x9wm 2t em =

1. XD mA em =

12.. AX2mA10 em =

12, FXAm15 cm =

AVEERVER VR VAR VAR VAR VAR VR VAR VA VR VAR VR V4

14. CX232wmbom=
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Please write doww the correct answer.

1. FXAMSom = C >
2. 4x®wmitom-= C D
3. 5X5m2B0m= C D
4. xdwm 31 om = ( )
5. SXFmM5cem= ( )
C. 4x4mA2 om = ( )
7. 2x1wm 25 om = ( )
2, Fx2 M om = C D
a. % X G W 4 om = C D
10. 2X5m15 om = C D
Mo 4xTwmitiom= C D
12. 2xX2wm15om = < )
12. 5X2m1D om = ( )
14. DXD M1 om = ( )
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Please write doww the correct answer.

1. 5X9 WM 27 cm =
2. 4X1wm 29 cm =
2. EXTF W2 om=
4. ax2wmacm=

5. FX232WMbom=

. 5XDm 2 em =
7. 2X232 M0 cm =
°. x4 w20 cm =
a. 5X2 W22 om=
10. TX5wm25om=
1. Ax1AmAD em =
12. 5X4 m11 em =
12. FXF M3 om=
14. DXAWmM2Zom=
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Please write doww the correct answer.

1. 2XAmATF em =
2. 5X2wm25cm=
2. FX2wm30cm=
4. 2%x4m1qcom =

5. 2XFwm20 et =

(. 5X2wm25cm =

7t X2ZWm31em=

°. 2Xx2mem =

a. AXxX1 Wm0 e = [ ]

S
—/

10. 4X23mM33 cm =

1. X1 wm29cm =

12.. DX wmAd2 cwm =

12, FXA3WMFLom=

14, 2X 0 wm3dcm=
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Division of lenagth

Please complete below table.

1. 120wm=+ 6=
2. 205m=5-=
2. AF2wm=+ 2=
4. 250wm~+5=
5. 224 m= b=
. 225m=3 =
. 220m=5=
5. A5 om+5 =
4. 1dbom+2 =
10. 109 om + 4 =
Mo 120 em+11 =
12, 204 om =~ 4 =

13. 2922 cm=7F =
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Please write doww the correct answer.

1. FTWMAD e+ 3 =
2. w50 ctm+5 =
2. 2m2ADem+ 2=
4. Sm 32 om = 4 =
5. Twma2om =2 =

. Gm3Dcm=5=

7. ewm55cm=+5=

A, 2mi1bem = 2 =

a. AWmMBDDem =+ 2 =

10. Gwm2Feom=+23 =

1. AmIFDcocm+ 3 =

12.. wm45cm =5 =

12, Amagrcem + 4 =

14. 5m44om =+ 4 =
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Please write doww the correct answer.

1. m50ctm=+ 2 = \

2. Am14d om+ 3 = \ )
2. Fwm2om=G= \ |
4, 2mEDcem+ 2= \

B, 2mMBeom =2 =

(. 5m2Dcm = 4 =

ER FTmasd om =+ @ =

A, 2masdom =+ 2 = \
a. ewmF5¢cm+5= \ ]
10. 5m2bem+ 2= ]

1. 2me4cm =3 =

12. Fwm34om=+2 =

12, Amsc4om=+7F =

14. aAm el com=+2 =
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Please write doww the correct answer.

1. 5m5%cm =+ 2=
2. 2m 63 cm= 3=
2. 2mMADom =2 =
4, FTm32m =+ b=

5. ewmadsom+5 =

(. 2m09 em =3 =

7. 2mblocem + 2 =

. 10 m asd em + g =

a. AwWm2Doem+ 4 =

10. 2mM 30+ 2 =

1. 10m#om=+q=

12.. Am o4 cocm =+ @ =

12, 5madom + 2 =

VOV VOV VYOV VOV VNV VNV WV

14. 5mdbcem+ 2 =
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Please write doww the correct answer.

1. 5m ot + 2 =

2. 2mMAem + 2 = \
2. FTMBem = G- \
4. GWm35cm=5= )

5. W55 m=+5=

(. Awm32om+ 3=

7t BmMED M+ o=

A, 5wm32 cm =+ 4 =

a. ITWmOo4dom=+ 4 =

10. A5 om=+ 3=

1. OmFeem = @ =

12. ITm45cm + 5 =

12, FTmMm35¢cm+5=

14. AMEDom =3 =
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